Applied Math II Assignment 02


P. 67 Q23
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(b)(i)
W = mass of salt solution 
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(b)(ii)
P = concentration of the salt solution
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(c)
For ( = (, V = V0 (a constant),



[image: image14.wmf]ò

-

P

P

P

P

dP

0

0

3

 = 
[image: image15.wmf]ò

t

V

dt

0

0

a




[image: image16.wmf][

]

P

P

P

P

0

)

3

ln(

0

-

-

 = 
[image: image17.wmf]0

V

t

a




[image: image18.wmf]0

0

2

3

P

P

P

-

 = 
[image: image19.wmf]t

V

e

0

a

-

, i.e. P = P0[3 ( 2
[image: image20.wmf]t

V

e

0

a

-

].


For ( > (, V = V0 + (( ( ()t,
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On simplification, P = 2P0
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